=1774.80M2

BB / ATHR
(amarg x wterd)
12.00M + 16.50M ﬂiﬂ&%ﬁl&ﬂﬂ =580 240
31.20M + 30.00M
2
23.00M + 12.50M
2

38.20M + 32,

2 =1089.36M°

+2570M  30.00M + 32.00M
> =B94.35M*°

st b
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1
JoN0 IMaT g famra aRyg it '
1IN
Qa3 AT o G| 1
W 4 it
/g BT M- fMowo—s, ﬂTﬂ'l l !
AT T A— HIEYRE, #¥E | 1
AT BT | SR HAB / BT R g
(eard x =ters)
Al0%H0-10, daee—2 | 100.00Mx ﬁmzﬂﬁ'ﬂ =5750.00M?
ZOE0—10, Agev—2 48.00M x 64,00M =2044.00M?

e SR




60.00M X 39.00M =2340.00M?

i




gl orTE @ Tl |
fiowEo—8, TG |
AR, AYE |
Sahd / AT [ faeg gt
(g x HreTs)
16,30M + 15.70M 23.50M + 23.00M
> 2 =37.20M°
jd_an + 186 IﬂM 24 30M + gn_l.ﬂgl_uj
> 5 =315.53M2
27.20M X 35.00Mx30.00 =g52.00M*
Mﬁlﬂ.@mﬂ
> X 21.00M =37.20M°
26 T0M X 5 =1080.13M°
T
Mz X 23.00M =064.05M% |
+18 -
34.15M X T =540.310°

To00M+17.70M  30.60M+28.40M
2 2 v

15.40M + 16.30M
- X 37.70M =507.55M°

30.50M X 28.50M =869.25M°

Fqoe—4 | 28.00M+ 26.80M 10.60M + 8.00M
2 2 =509 B4N°

—S7cs | 300M=3115M  10.00M+800M
w RS " e

=288 72M*




